[ Efficiency vs vertpos |

= 0.8

3] : : :

> 07E e S
> r : . .

& 0.6 + ----------- R PR REREE SEPEPERPEPES
o 't : :

g 05 ++--++++++++ -------------------------

0.4

i

0.2 orrmerierernees R

Ratio

+:
jﬁ:
—H—“‘*—‘i_
.

10 1 10 0?
TP vertr (cr%)

— I_original_step. ar-phasel-newgeom
QM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—e— D
ici —— DQM_pixelCPETemplateCutChiSquareNew_step2_tthar-phasel-newgeom
Efficiend —+— DOM_pixelCPETemplateCutChiSquareNew?2_step2_ttbar-phasel-newgeom

~N 1.2
o [
5 [
> -
g 1__ ......... P A e m e
> -
%)

2 [
Q

Q

=

()

Ratio

10 20
TP vert z (cm)

1_

0.8~

0.6~

efficiency vs Sim. PV z

0.4

0.2~

Ratio

0.9

0.8

0451650 510 1520

Sim. PV z (cm)

N



	Contents
	Page 1


